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k3 lustration 11.

Calculation ofopt:n——mm dividend policy and market price of share when r > K, and je,, reg

A company has 1,00,000 equity shares of T 10 c'aach..The compf”my expects its gamm\:-

T 7,50,000 and cost of capital at 10% for the next financial year. Us.mg the Walter’s mode] kl
dividend policy would you recommend when the rate of return on investment of the COmpa;:.f

estimated at 8% and 12% respectively ? What will be the price of equify s.hare if your recommendet;.i-i
[Almost similar to C.U. B.Com.(p Mg

are accepted ?

@ SolutionD

Situation 1:
When cost of capital (K,) = 10% or 0-10 and the rate of return on investment (r) = 8% or 0.3,
Under this situation r < K,, i.e., the company is a declining company.

So, as per the Walter’s model of dividend policy, the dividend pay-out ratio should be 1007, i
recommendation is accepted, the market price per equity share (P) will be

D+ E-D)
4
Kl'

where, 1 =008, K, =010,

P=

Total Earnings

= Earni hare =
E AIDINgs per share Number of Shares

_ ¥7,50,000
1,00,000

=% 750
and D = Dividend per share = 7.50 (as D/P ratio is 100%)
Now, putting the values, we get,

0-08
2750+ —— (3750 =T 7
. to7p X7 50-%7-50)

010
=375
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on2:

gt K, =010 and r =

n K 12% or g
Whe™ s situation r > K_; 12
¢ this ¢ er 1€, the ¢

ﬁflllustration 12.

Calculation of optimum pay-out ratio when r> K
o

ratio of the firm using Walter’s Model.

\m&bﬁsolutionj

Here, profitability rate of the firm (r) = 20% or 0-20
and capitalisation rate (K,) = 12-5% or 0-125

Since, > K, (growth firm), the company’s optimum dividend pay-

Under this situation, the market price of a share, .

D+—(E-D).
P= Ke 3
Ke
where, D = Dividend per share = zero
r=020
K,=0125
and E = Earnings per share,
Total earnings _ _ 20% of Z3,00,000
= Number of shares 3,000
Now, putting the values, we get,
020
720-0) ,
0+ 515, -2 256

s T
F 0-125

gd® 1 . om
o, as per the model, it can b Pany g ,
ﬂt‘ﬂc g this D/P rati € recom growth f;
he pasis of /P ratio, the market pg‘ci“dfed that the d;n?nl
Ot equit Vidend pyy,.
D+I'r"(E—D) Y share (p) willp Sy Out ratio should be zero. On
P m e, y
K(‘
“’hcml _
D = zero
r=012 -
K, =0-10 and
E=%750
Now, putting the values, we get
012
0+— :
po ol 7N0-0
010 =90

ng;;g?ﬁ;iﬁ?g? tlf:;nfiit:nci 1.1a; a(t)n investment of % 3,00,000 divided into 3,000 equity shares. If the
10 1s 20% and the capitalisation rate is 12:5%, calculate optimum pay-out

out ratio should be zero.

=320
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Mustration 13.

Optimum dividend policy when price-carning ratio is given.
From the following information state whether the firm’s dividend policy as per Walter’g M
MOdgy .

3

optimum : :
Earnings of the firm +¥1,00,000
’ Dividend Paid ¥ 75,000
i Number of Shares 50,000
Per share value 710
8

Price eamning ratio

i\% SolutionD

Here, dividend pay-out ratio (D/P Ratio)

- Di.wdend Palc.i % 100
Eamings of the firm

X75,000
= —— X
¥1,00,000 et

=75% =0-75
Rate of return on investment (r)
_ Total return or earnings
Total Investment
<1,00,000
~ 50,000x%10
=0-20

1
Price-earning ratio

and capitalisation rate (K,) =

Since r(O:ZO) > K, (0-125), then as per Walter’s model, the optimum dividend pay-out ratio should
zero. It implies that, no dividend should be paid out, the entire earnings should be retained to

maximise the value of shares.

Hlustration 14. -

Calculation of Price per share under different dividend pay-out ratios.

The following data are available for PP, Ltd. —

Earnings Per Share | Z3.00
Internal Rate of Return 15%
Cost of Capital ' 120/0

If Walter’s valuation f. ‘ _
18 50%, 75% and 108%0 ;mlﬂa holds, what will be the price per share when the dividend pay-outrati
| [C.U. M.Com, 1997
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Lividend p

fere, Earnings per share .
y L =7

ternal rate of retum, ; 1~(,\ +00,

cost of capital, Ko = 13 % or (.

. /’0 or 01_)
Now, the price per Shﬂro ) N

15 and

ﬂCc“r .
dmg to the

D + -L \\'nh PR
P= Ke (E=H) TS valuation formuly
K. a,

¢
where, D =Dividend per shate
;.d(ulation of Price per share

Situation 1

/,_‘\ Sl(ual
. D/P Rath = 500/‘0 \mp\*\ \—‘;—{‘1;“_{*-—{~—-'“—' — \
b3 Ratio = 750 =l Sltualion: ‘
(Dmdend per share . = 759, Ll
Divi D/ Ratio = 100% \
- 50% of T 3:00 =% 1.50) f vidend per share - ©
015 =75%0f33=37 %) (Dividend per share lS
ﬂ~50+ﬁ(z3'oo_?l'50) 32.25, 015 7 ) SIS S K \
Ne- LLOd—— ] o - |
p= 0-12 P hwaa) , nom%ll::.m.(m.: 100y |
= 0-12 - R, \:
;—g{ﬂ:% =T 26:56 ) 012 ,
: =325.00 l
lllustration 15.

= | —

e eamnings per share of XYZ Ltd. is ¥ 10 and the ST . o
. at < < S¢ « o s o AL M
qmpany has before it an option of adopting (i) 50 o B e Caleid

' ket pri f the sl ) %, and (i) 100% dividend pay-out ratio. Calculate
temarke PnCe'o ne share as per Walter’s model if it can earn a return of (a) 207, and (b) 12% on
« retained earnings.

(C.U. M.Com., 2008)
9‘ Solutiorg

Market price of a share, P as per Walter’s model is given by,

D+—,r—(E—D)
P= K
KC

where, D = Dividend per share.
| r = Rate of return on investment.
K, = Applicable capitalisation rate.
E = Earnings per share. o
. cou e, D =50%0f310=33
Option (i) : When dividend pay-out ratio 15 50% i, D =50% of X1 o )
T c ] Situ._\_liqnf(b):;:_ —

B

) 1
Whenr = 12% or (-12

M Situation (a)

When r = 20% or 0-20

Tl
0-20 i 012 = TR
z54(0-12(“0“(;63 ~z 11111 '

P = . L/__’ o - 012 e e

Nl 012

N
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LAY NI e ——————————————T . )
Option (if) : When dividend pay-oul ratio is 100% i.e., 1) = 100% nf T10-=210 d
Situation (a) P[RR c31(“«1“”" (BY 5
r- When r = 2()% u;—() 26 Wh( nr =1’ % or ():12
0-12
21042 20(:10 210) 7101 ¢S T10-T10)
pP= 0-12 - =T8333 Pz = T 8333
B 0-12 0-12 —

ﬁ llluslratlon 16.

Optimum dividend policy at given price-carning mlm
(a) From the following mformahon supplied to you ascertain whether the firm’s dij- Videng ..
out ratio is optimal, according to Walter. The firm was started a year before, with o quity " ¥

of T 20 lakh.
Earnings of the firm < 2,00,000
Dividend Paid | < 1,50,000
12-5

Price-earning ratio
- Number of shares outstanding
The firm is expected to maintain its current rate of earnings on investment.
(b)) What should be the price-earnings ratio at which d1v1dend pay out ratio will have no effec .

20,000 of X 100 each.

the value of the share ?
(c) Wil your dccxsxon change if the P/E ratio is 8 mstead of 12.57

@ Solutlon
Total earnings 32,00,000 _

(a) Here, Earni re, E= -
a) Here, Earning per share, E Number of shares 20,000

» Dividend paid ¥1,50,000
Dividend per share, D = = —
per share Number of shares 20,000

and, D/P Ratio = _‘EZ % 100

<1,50,000

= 22,0000 X 100 = 75% =075

E,

Total lnvcst-x;wnls

Rate of earnings on investments, r =

32,00 ,000

».~.._.~

¥20,000%x100

=010
and Capitalisation rate, K. w sk !
¢~ Price- 0;1rnll\f‘;.‘iék(“i;)—f"rﬂllo)
= 1._ 0
125 =008
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Under this situation; the mewM‘%J é"* R 731 )
\ Q Pl‘i\‘k‘ \“ )

] \\‘l\i\\\\ “\ '
D+ }\-nkl "l-)) )L\,

P= m——-.;},.“‘__-‘ﬂ‘ _ 7. S04 0‘19\ 10
?\(, S e 0. 08 X 0-%7 -50)
0.08 T
=X 132. 81

Js s not the optimum ‘
™ 0:1Q) > K }0 08 market Price of the
As, 1 ( \ e 08 ). the optimun div
Under that situation, putting the

share,

1 dend Pay-out ratio should be zero (i.e., D =0)
Values in the Walter! s Model, we get,

0+g-1-_0. 10—
p=_ 008 N 0
0-08
=X 156-25

which is the optimum market price of the share,

() The dividend pay-out ratio will have no effect on the value of the share, when,

r=K,=0 10
Under this situation, price-carning ratio (P/E ratio)

R T ST,
K, 010
(© When P/E ratio = 8,
, v _looas -
K = P /E ratio 8
)-10
whereas, 1 = { |
g - » shareholders,
. y< K, under this xlluanon (ire carnings as dividend to the share
" ¢ llS en =

ule

should |

Honce, the company

e, D/P
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